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	NAEP Question
	CCLS Alignment

	 
The Following Questions Refer to Passage [1] 				
1. Why did Marian Anderson think she would be accepted to sing at Constitution Hall in 1939?
A. Because she believed the DAR would consider only her musical skill
B. Because she had sung at Constitution Hall before she went to Europe
C. Because she thought that Eleanor Roosevelt would recommend her
D. Because she knew that no other black singers had applied
				
2. Why is "A Voice for Civil Rights" a good heading for the section that follows it on pages 3–4? Use information from the article to support your answer.

	
3. Explain why Marian Anderson's career was important to the development of the civil rights movement in the United States. Use information from the article to support your answer.

				
4. Why do you think Marian Anderson began her concert by singing the words, "My country, 'tis of thee, sweet land of liberty, of thee I sing"? Use information from the article to support your answer.

] 				
5.  On page 4, the article says that Marian Anderson performed in many prestigious locations. This means that she sang in places that were 
A. far away from each other
B. famous and important
C. open to people of all races
D. large and crowded
 
				
6. Why do you think the author begins and ends the article talking about Constitution Hall? Use information from the article to support your answer.



The following questions refer to passages [2] and [3] 				
7. Why does Willy take a shortcut through the forest?
A. He wants to get home before dark.
B. He is chasing some squirrels.
C. He wants to work on his tracking skills.
D. He is in a hurry to climb a tree.


				
8. How does Willy mark his path through the forest?
A. By leaving a trail of nuts
B. By cutting the bark of tree trunks
C. By painting lines on trees
D. By making piles of leaves
 
				
9. Explain why Willy gets lost in the forest.

				
10. What kind of person is Willy? Support your answer with information from the story.

				
11. Explain one way Willy and the speaker in the poem are similar or different. Use information from both the story and the poem to support your answer.
 
				
12. Do you think the poem is meant to be serious or funny? Use an example from the poem to explain your answer.
 
				
13. Explain why the speaker in the poem repeats the word "Very" at the end of the poem.

				
14. On page 2, the author of the story says that Willy hears only "eerie silence." This means that Willy
A. finds the silence strange and frightening
B. believes the silence will go away soon
C. wonders what causes the silence
D. feels alone in the silence
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15. Every 30 minutes Dr. Kim recorded the number of bacteria in a test tube.
[image: ]

Which best describes what happened to the number of bacteria every 30 minutes?

A. The number of bacteria increased by 500.
B. The number of bacteria increased by 1,000.
C. The number of bacteria doubled.
D. The number of bacteria tripled.

Did you use the calculator on this question?
[image: check box of yes or no]
 


16. Sam folds a piece of paper in half once. There are 2 sections.
[image: ]

Sam folds the paper in half again. There are 4 sections.

[image: ]

Sam folds the paper in half again. There are 8 sections.

Sam folds the paper in half two more times.
Which list shows the number of sections there are each time Sam folds the paper?
A. 2, 4, 8, 10, 12
B. 2, 4, 8, 12, 24
C. 2, 4, 8, 16, 24
D. 2, 4, 8, 16, 32
 
17. Write the next two numbers in the number pattern. 

              1     6     4     9     7     12    10     ____     ____ 



Write the rule that you used to find the two numbers you wrote.




 
[image: ]
 

18. A pattern of dots is shown above. How many dots would be in the 6th picture? 

Answer: ________________ 

Explain how you found your answer.
 
[image: ]
 

19. The table shows how the "In" numbers are related to the "Out" numbers. When 38 goes in, what number comes out?
A. 41
B. 51
C. 54
D. 77


 
[image: ]

The following question refers to the number tiles or the paper strip. Please remove the 10 number tiles and the paper strip from your packet and put them on your desk.
 

20. Jan entered four numbers less than 10 on his calculator. He forgot what his second and fourth numbers were. This is what he remembered doing.
 

[image: ]
 


List a pair of numbers that could have been the second and fourth numbers. 
(You may use the number tiles to help you.)
 

________   ,   ________


 List a different pair that could have been the second and fourth numbers. 
 

________   ,   ________

 












[image: ]

21. An amusement park has games, rides, and shows.



• The total number of games, rides, and shows is 70.
• There are 34 rides.
• There are two times as many games as shows.






How many games are there? ______________________






How many shows are there? ______________________





Use numbers, words, or drawings to show how you got your answer.

If you need more room for your work, use the space below.


 

Did you use the calculator on this question?
[image: check box of yes or no]
 


22. Mr. Jones picked a number greater than 100.
He told Gloria to divide the number by 18.

He told Edward to divide the number by 15.



Whose answer is greater?


       [image: ]  Gloria’s           [image: ]  Edward’s 





Explain how you know this person’s answer will always be greater for any number that Mr. Jones picks.


 
 

[image: ]

23. A dartboard has three separate areas.
Darts that land in the inner circle earn 100 points each.

Darts that land in the middle ring earn 10 points each.

Darts that land in the outer ring earn 1 point each.




[image: ]






[image: ]





The person who has the highest score after throwing 9 darts wins the game.


 Can Jill win the game?                [image: ] Yes      [image: ]  No 

 Can Kevin win the game?           [image: ] Yes      [image: ]  No 

 Can Ruth win the game?             [image: ] Yes      [image: ]  No 





Explain how you know which players can win and which players cannot win.




 
 
24. Ms. Kim has 45 stickers that she wants to give out to 6 students. The students are sitting in a circle. Ms. Kim gives out one sticker at a time and keeps going around the circle until all the stickers are gone. How many of the students will get more than 7 stickers?
A. 2
B. 3
C. 5
D. 6


 
[image: ]

The following question refers to pieces  R,  T and  X.
You will need the pieces labeled  T and  X to answer this question.

25. Kylena made a design from the pieces and called it a "shy dog." Each dog design used 1 piece labeled  T and 2 pieces labeled  X. It looked like this. 
[image: ]
How many of each of the pieces would she need to make 26 shy dog designs? 

Piece  T ____________________ 

Piece  X ____________________ 

If Kylena had only 11 pieces labeled  T and only 15 pieces labeled  X, how many shy dog designs could she make? 

Answer: ___________________ 

Use drawings, words, or numbers to explain how you found the number of shy dog designs she 
could make.


26. There will be 58 people at a breakfast and each person will eat 2 eggs. There are 12 eggs in each carton. How many cartons of eggs will be needed for the breakfast?
A. 9
B. 10
C. 72
D. 116

Did you use the calculator on this question?
[image: check box of yes or no]
 
[image: ]
 

27. Rico bought 10 cards, which cost $12.20 before tax. How many packages of each type did he buy?___________ Packages of postcards
___________ Packages of greeting cards 


Explain how you know your answer is correct. 


Rico said that one postcard is cheaper than one greeting card. Show that Rico is correct. 
 
Did you use the calculator on this question?
[image: check box of yes or no]
 
[image: ]
 

28. Tony has 2 quarters and 2 dimes. Marta has 1 quarter, 2 dimes, and 1 nickel. Which of the coins from Tony's bank would he need to give Marta so that they each have the same amount of money?
A. One dime
B. Two dimes
C. One quarter
D. One quarter and one dime
 


29. Five classes are going on a bus trip and each class has 21 students. If each bus holds only 40 students, how many buses are needed for the trip?

Answer: ________________


30. Mark says  [image: ] of his candy bar is smaller than  [image: ] of the same candy bar.
Is Mark right?      [image: ]  Yes      [image: ]  No 


Draw a picture or use words to explain why you think Mark is right or wrong.
 


 
31. A club needs to sell 625 tickets. If it has already sold 184 tickets to adults and 80 tickets to children, how many more does it need to sell?
 Answer: _________________________
 


32. Sue bought a notebook for $3.59. She gave the clerk a $5 bill. Which of these is the correct amount of change?
A. One dollar, four dimes, and a penny
B. One dollar, five dimes, and a penny
C. Two dollars, four dimes, and a penny
D. Two dollars, five dimes, and nine pennies
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